o
[N

<0 > (rad)
o
o [
[ [¢)]

......

........

............

s

v Lo L P
-2 1

0 1

2

3
TP n (PCA to beamline)

< o cot(y) >

........

........

3

2 3

TP n (PCA to beamline)

ooooy

FOCOOQ
]

33337

Ty

|

il

i
1
)

=]

(e

TTorgiat

—TT Jé’nuEgate-

100

< 00, > (M)

3 L LB L
: LTI

- - R

2 JHUTIREEE L et 1

- L [#f A I
E....I||||I||||I||||i||||i‘||
SE R E

3 -2 -1 0 1 2 3

TP n (PCA to beamline)

<0 / > (Y
PP, > (Y0)
O = N W N O

Ratio

|
N
(oS R R R LR R RNl RRR L RRRRN LR RN AR RARRN LRLL

Ol ]

1

2

3

TP n (PCA to beamline)

<od,> (um)

-

RatioI

iy

%

b FEEMH AT LT

£ N

(o0 AN LA RAALY LA LR

0 1

2 3

TP n (PCA to beamline)



	Contents
	Page 1


